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Smile 2207

Pinball Experiments

You will need MicroSMILE program Pinball and worksheet 2207a.

Experiment 1 s

Select | 1 Ievel_

Drop (40| balls

Record your results on the worksheet.
Empty the balls.

B

Repeat 4 times.

Predict how many balls will fall into each of the boxes when you drop 100.
Test your prediction. : 5

Experiment 2

Select | 2| levels

Drop [40] balls _
V%,  Record your results on the worksheet. : ’

Empty the balls.

Repeat 4 times.

There i_s only one way of There are two ways of There is only one way of
reaching the first box. reaching the middle box. reaching the last box.

&

Fabsfal

Predict how many balls will fall into each of the boxes when you drop 100.
Test your prediction.

Experiment 3 i

Select | 3| levels

Drop |40| balls

Record your results on the worksheet.
Empty the balls.

Repeat 4 times.

Look at how many ways there are to get to each box.
Predict how many balls will fall into each of the boxes when you drop 200.

Test your prediction.

Were your test results close to your predictions?

Continue to experiment with Pinball, making predictions and testing. -
© RBKC SMILE 1995.
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Smile Worksheet 2207a

Experiment 1

Experiment 2
Dropping 40 balls

|  Experiment 3
Dropping 40 balls
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Dropping 100 balls
Predict

Test

|| Test

Dropping 100 balls
Predict

Dropping 200 balls

Predict

Test







Smile 1269

Pr Obability A full pack of cards consists of 4 suils
v &4 06 ¢

hearts  clubs spodes diamonds
Each it contains 13 cards: Ace, 2, 3, 4, 5, &,
7.8,9, 10, Jack, Gueen and King. %

Picking a card from a full pack of playing cards

There are 52 cards in a full pack of playing cards.
13 of the cards are hearts, 39 are not hearts.

The probobility of picking a heart is 13 out of 52 or %% (= %)

The probability of not picking a heart is 39 out of 52 or g—% (= %)

13 , 3 _ 52 _1 Youcan either pick a heart or not pick a
Az - ok ad heart, the two events are mutually exclusive.

The total probability of all mutually exclusive outcomes is 1.

If you know the probability of an event occurring you can find
the probability of the event not occurring by subtracting from 1.

The probability of picking an ace is 5-45

The probability of not pickingan aceis 1 - 4 = 43  (-{3)

P
e

SRR

A card is- picked from a full pack of playing cards.
What is the probability of:
1. a) geffing the ace of spades?
b) not getting the ace of spades?

ez
e

Check that your probabilities for questions
a) and b ) total 1.

2. a) gefting a king?
b) not getiing a king?

3. getting a diamond?
4. not getting a diamond?




Picking a card from a pack of playing cards with one card missing

A pack of cards has the five of clubs missing.

There are 51 cards in this pack.
12 of the cards are clubs, 39 are not clubs.

The probability of picking a club is 12 out of 51 or ¥ .
The probability of not picking a clubis 1~ 12 = 3.

12 ., 39 _ 5l _ 1 You can either pick a club or not pick
5] 51 3]
a club, the two events are mutually
exclusive.

The total probability of all mutually exclusive oulcomes is 1.

b
55

. Acard is picked from a pack of playing cards, which
“ has the seven of hearts missing.

What is the probability of:

P
P

5. a) gefting a spade?
b) not getting a spade?

6. a) gelting a heart?
b) not getting a heart?

7. a) getinga 77
b) not getting a 77

Check that your probabilities for a) and b) total 1 each time.



A dice is rolled
What is the probability of:

8. gelting a number greater than 4?
Q. getling a number less than 1?2
10. gettinga 77

11. not getling a 6?

12. getting a number less than 3?2

Two dice are rolled

Copy and complete the table of all the
possible total scores.

Dice |

2

Dice 2

What is the probability of:

- 13. getting a total score of 10?
14. not getting a total score of 10?

%



Three coins are tossed

One possible outcome is Heads, Heads, Tails (HHT).
List all the possible outcomes.

What is the probability of:

15. getting exactly two heads?
16. getting af least two heads?

17. What is the smallest probability of an event?
What is the largest probability of an event?
[Look at your answers for questions 9) and 10).]

18. If the probability that a person chosen at random
is lefi-handed is Elb' what is the probability of
being right-handed?

A coin is being tossed and heads have come up
five times in succession.

it+'s bound to be
tails next time

Is she correct?

Explain your answer.

A dice is rolled 600 times.
About how many times would you expect a
number greater than 2 to turn up?

© RBKC SMILE 1995.
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Smile 2159

Permutating Tricubes

You will need a set of DIME Tricubes.

Four tricubes make

a 3x2x2 cuboid.

Using two colours, how many different ways can
you make a 3 x 2 x 2 cuboid?

How can you be sure you have found all the
different ways?

Explain the system you are using.

Use three colours. . . © RBKC SMILE 1994.



Smile 1670

Find the fakes!

Six students were asked to toss a coin 50
times each and record the results. Some
of them couldn't be bothered tossing a
coin, and simply invented their results.
They all filled in their tables row by row.

Here are the six sets of results
(T=tail, H=head)

Artie
Sue
Maria
Simon
Debbie

Beob

HrT9Ls A49T0TS 94943 LIh4aSIng IInAaa L34
TaTeg IINTD4ST II4949495n T4 TIaTm TELTA

AT DIOITIAan IToAagn J9IDIODIDT ANTEAa4a AT
T Tg A33T4a TS4g949T Da4a4an TSTTAa S3TmAa34

TaTaT OISO T 4afanmd AmTDos JAT-1-aa Doh-aad
QTaTa TIoITTTS 494949 D4a494949 LoTToAa ToEASaAaT
T I3 T4a3 435449 4aIn4ga49Tn 49InEam LTI
STTaT Tg49494 S4949o04a EZ4amms IaInAan LLaTT
g Ty IEagma g9gign oDomET Dgmam DEamm

T OIoTTs Ta4Dng 993n4an 499493 Daa-3m

Which sets of results were faked?
Justify your conclusions.
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